

## Distributed algorithms for solving a class of convex feasibility problems

Kaihong LU<sup>1</sup>, Gangshan JING<sup>1, 2</sup> & Long WANG<sup>3\*</sup>

<sup>1</sup>Center for Complex Systems, School of Mechano-electronic Engineering, Xidian University, Xi'an 710071, China;

<sup>2</sup>Department of Applied Mathematics, Hong Kong Polytechnic University, Hong Kong, China;

<sup>3</sup>Center for Systems and Control, College of Engineering, Peking University, Beijing 100871, China

### Appendix A Proof of Theorem 1

To prove Theorem 1, the following lemmas are presented.

**Lemma 1.** [1,2] For a graph  $\mathcal{G}(\mathcal{A})$ , if  $\mathcal{G}(\mathcal{A})$  strongly connected, then the Laplacian matrix  $L$  has one simple 0 eigenvalue and the other eigenvalues have positive real parts. Moreover, there exists a vector  $w = [w_1 \cdots w_n]^T > 0$  such that  $w^T L = 0$ .

For ease of description, if  $\mathcal{G}(\mathcal{A})$  strongly connected, we use  $\lambda_1(L)$  to represent the 0 eigenvalue and  $\lambda_i(L), i = 2, \dots, n$  to represent other non-zero eigenvalues.

**Lemma 2.** [3] Given a symmetric matrix  $P = (p_{ij})_{n \times n}$  and a vector  $x = [x_1, \dots, x_n]^T$ , if  $P\mathbf{1}_n = 0$ , then  $x^T P x = -\sum_{i=1}^n \sum_{j=i+1}^n p_{ij} (x_i - x_j)^2$ .

#### Proof of Theorem 1.

Since the graph is strongly connected, by Lemma 1, there exists a vector  $w = [w_1 \cdots w_n]^T > 0$  such that  $w^T L = 0$ . Consider a positive-definite Lyapunov function candidate  $V(t) = \frac{1}{2} \sum_{i=1}^n w_i \|x_i(t) - x_0\|^2$ , where  $x_0 \in \mathbf{X}^*$ . By the definition of  $g_i^+$ , we have  $g_i^+(x_0) = \|x_0\|_X = 0$ . Based on the property of subgradient, we have  $\langle x_i(t) - x_0, \nabla g_i^+(x_i(t)) \rangle \geq g_i^+(x_i(t))$ . Taking the derivative of function  $V(t)$  with respect to  $t$  yields

$$\begin{aligned} \dot{V}(t) &= \sum_{i=1}^n w_i \langle x_i(t) - x_0, \dot{x}_i(t) \rangle \\ &= \sum_{i=1}^n w_i \langle x_i(t) - x_0, \sum_{j \in N_i} a_{ij}(t)(x_j(t) - x_i(t)) - \tau[x_i(t) - P_{X_i}(x_i(t))] - \tau \nabla g_i^+(x_i(t)) \rangle \\ &= \sum_{i=1}^n \sum_{j \in N_i} w_i a_{ij} \langle x_i(t) - x_0, x_j(t) - x_i(t) \rangle - \tau \sum_{i=1}^n w_i \langle x_i(t) - x_0, x_i(t) - P_{X_i}(x_i(t)) \rangle \\ &\quad - \tau \sum_{i=1}^n w_i \langle x_i(t) - x_0, \nabla g_i^+(x_i(t)) \rangle. \end{aligned} \tag{A1}$$

Denote  $\bar{x}(t) = [x_1^T(t), \dots, x_n^T(t)]^T$ , we have

$$\begin{aligned} &\sum_{i=1}^n \sum_{j \in N_i} w_i a_{ij} \langle x_i(t) - x_0, x_j(t) - x_i(t) \rangle \\ &= -(x(t) - (\mathbf{1}_n \otimes I_m) x_0)^T (W L \otimes I_m) x(t) + x_0^T (w^T L \otimes I_m) x(t) \\ &= x^T(t) \left( \frac{W(-L) + (-L)^T W}{2} \otimes I_m \right) x(t) \\ &= -\sum_{i=1}^n \sum_{j=i+1}^n \frac{w_i a_{ij} + w_j a_{ji}}{2} \|x_j(t) - x_i(t)\|^2 \\ &\leq 0 \end{aligned} \tag{A2}$$

---

\* Corresponding author (email: longwang@pku.edu.cn)

where  $W = \text{diag}(w)$  is a diagonal matrix formed by  $w$  and the last equation results from Lemma 2. Since  $-\langle x_i(t) - x_0, x_i(t) - P_{X_i}(x_i(t)) \rangle \leq -\frac{1}{2} \|x_i(t) - P_{X_i}(x_i(t))\|^2 \leq 0$ , by (A1) and (A2), we have

$$\begin{aligned} \dot{V}(t) &\leq -\tau \sum_{i=1}^n w_i \|x_i(t) - P_{X_i}(x_i(t))\|^2 - \tau \sum_{i=1}^n w_i g_i^+(x_i(t)) \\ &\quad - \sum_{i=1}^n \sum_{j=i+1}^n \frac{w_i a_{ij} + w_j a_{ji}}{2} \|x_j(t) - x_i(t)\|^2. \end{aligned} \quad (\text{A3})$$

Note that  $g_i^+(x_i(t)) \geq 0$ . Thus,  $\dot{V}(t) \leq 0$ . Moreover,  $V(t)$  is bounded by zero, therefore,  $V(t)$  converges and  $V(\infty)$  exists. By (A3), we have

$$\begin{cases} \int_0^\infty \sum_{i=1}^n w_i \|x_i(t) - P_{X_i}(x_i(t))\|^2 dt \leq \frac{V(0) - V(\infty)}{\tau} < \infty \\ \int_0^\infty \sum_{i=1}^n w_i g_i^+(x_i(t)) dt \leq \frac{V(0) - V(\infty)}{\tau} < \infty \\ \sum_{i=1}^n \sum_{j=i+1}^n \frac{w_i a_{ij} + w_j a_{ji}}{2} \int_0^\infty \|x_j(t) - x_i(t)\|^2 dt \leq V(0) - V(\infty) < \infty. \end{cases} \quad (\text{A4})$$

The first two inequalities in (A4) imply  $\lim_{t \rightarrow \infty} \|x_i(t) - P_{X_i}(x_i(t))\| = 0$  and  $\lim_{t \rightarrow \infty} g_i^+(x_i(t)) = 0$ , respectively. Moreover, by the third inequality in (A4), we have  $\lim_{t \rightarrow \infty} \|x_j(t) - x_i(t)\|^2 = 0$  for any  $i, j \in \mathcal{V}$ . Consequently,  $\lim_{t \rightarrow \infty} \|x_i(t) - x^*\| = 0$  for some  $x^* \in X^*$ . This completes the proof.

## Appendix B Proof of Theorem 2

Let  $x(t) = [x_1^T(t), \dots, x_n^T(t)]^T$  and  $\phi(t) = [\phi_1^T(t), \dots, \phi_n^T(t)]^T$ , MAS (2) with (5) can be rewritten as

$$x(t+1) = ((I - hL) \otimes I_m) x(t) + \phi(t). \quad (\text{B1})$$

Define a variable  $\hat{x}(t) = \sum_{i=1}^n \frac{w_i x_i(t)}{\sum_{i=1}^n w_i} = \left( \frac{w^T}{\mathbf{1}^T w} \otimes I_m \right) x(t)$ , where  $w = [w_1 \dots w_n]^T$  is  $L$ 's left eigenvector associated

with 0 eigenvalue. Based on (B1), we have  $\hat{x}(t+1) = \hat{x}(t) + \frac{(w^T \otimes I_m)}{\mathbf{1}^T w} \phi(t)$ . Denote  $e_i(t) = x_i(t) - \hat{x}(t)$  and  $e(t) = [e_1^T(t), \dots, e_n^T(t)]^T$ . By (B1), we have

$$e(t+1) = ((I - hL) \otimes I_m) e(t) + \left( \left( I_n - \frac{\mathbf{1}_n w^T}{\mathbf{1}_n^T w} \right) \otimes I_m \right) \phi(t). \quad (\text{B2})$$

To prove Theorem 2, the following lemmas are presented.

**Lemma 3.** ([4], Lemma 3.1) Let  $\{\eta(t)\}$  be a scalar sequence, if  $\lim_{t \rightarrow \infty} \eta(t) = 0$  and  $0 < \rho < 1$ , then  $\lim_{t \rightarrow \infty} \sum_{\tau=0}^t \rho^{t-\tau} \eta(\tau) = 0$ .

**Lemma 4.** Consider a linear system  $x(t+1) = Ax(t) + \theta(t)$ , where  $A \in \mathbb{R}^{n \times n}$  and  $x(t), \theta(t) \in \mathbb{R}^n$ , if each eigenvalue  $\lambda_i(A)$  of  $A$  satisfies  $|\lambda_i(A)| < 1$  for any  $i \in \{1, \dots, n\}$  and  $\lim_{t \rightarrow \infty} \|\theta(t)\| = 0$ , then we have  $\lim_{t \rightarrow \infty} \|x(t)\| = 0$ .

*Proof.* From the theory of Schur's unitary triangularization, we know that for any  $A \in \mathbb{R}^{n \times n}$ , there exists a unitary matrix  $U \in \mathbb{C}^{n \times n}$  such that

$$U^H A U = \begin{bmatrix} \lambda_1 & \lambda_{12} & \dots & \lambda_{1n} \\ 0 & \lambda_2 & \lambda_{23} & \lambda_{2n} \\ \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \lambda_n \end{bmatrix} \triangleq \Lambda$$

where  $\lambda_i$  is the eigenvalue of matrix  $A$ ,  $i = 1, \dots, n$ ;  $U^H$  is the conjugate transpose matrix of  $U$ . Denote  $y(t) = U^H x(t)$  and  $r(t) = U^H \theta(t)$ , we have

$$y(t+1) = \Lambda y(t) + r(t).$$

By the fact that  $\lim_{t \rightarrow \infty} \|\theta(t)\| = 0$ , we have  $\lim_{t \rightarrow \infty} \|r(t)\| = 0$ . Let  $y(t) = [y_1(t), \dots, y_n(t)]^T$  and  $r(t) = [r_1(t), \dots, r_n(t)]^T$ , for any  $i = 1, \dots, n$ , it is obvious that

$$y_i(t+1) = \lambda_i(A) y_i(t) + \left( \sum_{j=i+1}^n \lambda_{ij}(A) y_j(t) + r_i(t) \right).$$

It follows that

$$|y_i(t)| \leq |\lambda_i(A)|^t |y_i(0)| + \sum_{\tau=0}^{t-1} |\lambda_i(A)|^{t-\tau} \left( \sum_{j=i+1}^n |\lambda_{ij}(A)| |y_j(\tau)| + |r_i(\tau)| \right).$$

(i) For  $i = n$ , we have

$$|y_n(t)| \leq |\lambda_n(A)|^t |y_n(0)| + \sum_{\tau=0}^{t-1} |\lambda_n(A)|^{t-\tau} |r_n(\tau)|.$$

By the fact that  $|\lambda_n(A)| < 1$  and using Lemma 3, we have  $\lim_{t \rightarrow \infty} |y_n(t)| = 0$ .

(ii) For  $i = n - 1$ , we have

$$|y_{n-1}(t)| \leq |\lambda_{n-1}(A)|^t |y_{n-1}(0)| + \sum_{\tau=0}^t |\lambda_{n-1}(A)|^{t-\tau} (|\lambda_{(n-1)n}(A)| |y_n(\tau)| + |r_{n-1}(\tau)|).$$

Note that  $\lim_{t \rightarrow \infty} (|\lambda_n(A)y_n(t)| + |r_{n-1}(t)|) = 0$  and  $|\lambda_{n-1}(A)| < 1$ , using Lemma 3 again, there is  $\lim_{t \rightarrow \infty} y_{n-1}(t) = 0$ .

In a similar fashion, we have  $\lim_{t \rightarrow \infty} \left( \sum_{j=i+1}^n |\lambda_{ij}(A)| |y_j(t)| + |r_i(t)| \right) = 0$  and  $\lim_{t \rightarrow \infty} |y_i(t)| = 0$  for  $i = n - 2, \dots, 1$ . Thus,  $\lim_{t \rightarrow \infty} \|y(t)\| = 0$ . This and the fact  $x(t) = Uy(t)$  imply  $\lim_{t \rightarrow \infty} \|x(t)\| = 0$ .

**Proof of Theorem 2.**

The proof consists of two parts. In part 1, we will prove that  $y_i(t)$  asymptotically converges to set  $\Omega_i = \{y|g_i^+(y) = 0, y \in X_i\}, \forall i \in \mathcal{V}$ . In part 2, we will be committed to showing that consensus can be achieved asymptotically.

**Part 1.** Since the graph is strongly connected, by Lemma 1, there exists a vector  $w = [w_1 \cdots w_n]^T > 0$  such that  $w^T L = 0$ . Consider the positive-definite Lyapunov function candidate  $V(t) = \sum_{i=1}^n w_i \|x_i(t) - x_0\|^2$ , where  $x_0 \in \mathbf{X}^*$ . Taking the difference of function  $V(t)$  yields

$$\begin{aligned} \Delta V(t) &= V(t+1) - V(t) \\ &= \sum_{i=1}^n w_i \|y_i(t) + \phi_i(t) - x_0\|^2 - \sum_{i=1}^n w_i \|x_i(t) - x_0\|^2 \\ &= \sum_{i=1}^n w_i \|y_i(t) - x_0\|^2 + 2 \sum_{i=1}^n w_i \langle \phi_i(t), y_i(t) - x_0 \rangle \\ &\quad + \sum_{i=1}^n w_i \|\phi_i(t)\|^2 - \sum_{i=1}^n w_i \|x_i(t) - x_0\|^2. \end{aligned} \tag{B3}$$

Since  $0 < h < \frac{1}{\max_{1 \leq i \leq n} \left( \sum_{j=1}^n a_{ij} \right)}$ , we have  $0 < 1 - h \sum_{j=1}^n l_{ij} < 1$ . By convexity of the norm square function, we have

$$\begin{aligned} \|y_i(t) - x_0\|^2 &= \left\| \left(1 - h \sum_{j \in N_i} l_{ij}\right) (x_i(t) - x_0) + h \sum_{j \in N_i} l_{ij} (x_j(t) - x_0) \right\|^2 \\ &\leq \left(1 - h \sum_{j \in N_i} l_{ij}\right) \|x_i(t) - x_0\|^2 + h \sum_{j \in N_i} l_{ij} \|x_j(t) - x_0\|^2. \end{aligned}$$

Then, we have

$$\begin{aligned} \sum_{i=1}^n w_i \|y_i(t) - x_0\|^2 &\leq \sum_{i=1}^n w_i \left(1 - h \sum_{j \in N_i} l_{ij}\right) \|x_i(t) - x_0\|^2 + h \sum_{i=1}^n w_i \sum_{j \in N_i} l_{ij} \|x_j(t) - x_0\|^2 \\ &= \sum_{i=1}^n w_i \|x_i(t) - x_0\|^2 - h \sum_{i=1}^n w_i \left( \sum_{j=1}^n l_{ij} \right) \|x_i(t) - x_0\|^2 \\ &\quad + h \sum_{j=1}^n \left( \sum_{i=1}^n w_i l_{ij} \right) \|x_j(t) - x_0\|^2 \\ &= \sum_{i=1}^n w_i \|x_i(t) - x_0\|^2 \end{aligned} \tag{B4}$$

Submitting (B4) into (B3) yields

$$\Delta V(t) \leq 2 \sum_{i=1}^n w_i \langle \phi_i(t), y_i(t) - x_0 \rangle + \sum_{i=1}^n w_i \|\phi_i(t)\|^2. \tag{B5}$$

Now we discuss the value of term  $\|\phi_i(t)\|^2 + 2 \langle \phi_i(t), y_i(t) - x_0 \rangle$  in the following two cases.

Case 1. If  $\varphi_i(t) = 0$ , then  $\xi_i(t) = 0$ , which implies that  $\|\phi_i(t)\|^2 + 2 \langle \phi_i(t), y_i(t) - x_0 \rangle = 0$ ;

Case 2. If  $\varphi_i(t) \neq 0$ , then  $\frac{\xi_i(t)}{2\varphi_i(t)} > 0$ . By the properties of subgradient, we have

$$\begin{aligned} \langle \phi_i(t), y_i(t) - x_0 \rangle &= - \left\langle \frac{\epsilon \xi_i(t)}{2\varphi_i(t)} (y_i(t) - P_{X_i}(y_i(t)) + \nabla g_i^+(t), y_i(t) - x_0) \right\rangle \\ &\leq - \frac{\epsilon \xi_i(t)}{2\varphi_i(t)} (g_i^+(y_i(t)) + \frac{1}{2} \|y_i(t) - P_{X_i}(y_i(t))\|^2) \\ &= - \frac{\epsilon \xi_i^2(t)}{2\varphi_i(t)} \end{aligned} \tag{B6}$$

Moreover, we have

$$\begin{aligned}\|\phi_i(t)\|^2 &= \left(\frac{\epsilon \xi_i(t)}{2\varphi_i(t)}\right)^2 \|y_i(t) - P_{X_i}(y_i(t)) + \nabla g_i^+(t)\|^2 \\ &\leq \frac{1}{2} \left(\frac{\epsilon \xi_i(t)}{\varphi_i(t)}\right)^2 (\|y_i(t) - P_{X_i}(y_i(t))\|^2 + \|\nabla g_i^+(t)\|^2) \\ &= \frac{1}{2} \frac{\epsilon^2 \xi_i^2(t)}{\varphi_i(t)}\end{aligned}\quad (\text{B7})$$

By (B6) and (B7), one has  $\|\phi_i(t)\|^2 + 2\langle \phi_i(t), y_i(t) - x_0 \rangle \leq -\frac{1}{2}(2\epsilon - \epsilon^2) \frac{\xi_i(t)^2}{\varphi_i(t)}$  if  $\varphi_i(t) \neq 0$ .

Define

$$\Theta_i(t) = \begin{cases} \frac{\xi_i(t)^2}{\varphi_i(t)}, & \text{if } \varphi_i(t) \neq 0, \\ 0, & \text{if } \varphi_i(t) = 0. \end{cases}\quad (\text{B8})$$

Note that  $\varphi_i(t) \geq 0$ , it knows  $\Theta_i(t) \geq 0$ . Combining Case 1 and Case 2, by (B5), one has

$$\Delta V(t) \leq -\frac{1}{2}(2\epsilon - \epsilon^2) \sum_{i=1}^n w_i \Theta_i(t).\quad (\text{B9})$$

By (B8), we know  $\Theta_i(t) \geq 0$  for any  $i \in \mathcal{V}$ . By the fact  $0 < \epsilon < 2$  and  $w_i > 0$ , hence,  $\Delta V(t) \leq 0$ . Moreover,  $V(t)$  is lower bounded by zero, thus,  $V(t)$  converges and  $V(\infty)$  exists. By the fact  $\Delta V(t) \leq 0$ , we have  $V(t) \leq V(0)$  for any  $t \geq 0$ , which implies that  $\|x_i(t)\|$  is bounded for any  $i \in \mathcal{V}$ . By (B9), we have

$$\begin{aligned}\sum_{t=0}^{\infty} \sum_{i=1}^n w_i \Theta_i(t) &\leq \frac{-2}{2\epsilon - \epsilon^2} \sum_{t=0}^{\infty} \Delta V(t) \\ &= \frac{2}{2\epsilon - \epsilon^2} (V(0) - V(\infty)) \\ &< \infty.\end{aligned}$$

Thus,  $\sum_{t=0}^{\infty} \Theta_i(t) < \infty$ , which implies  $\lim_{t \rightarrow \infty} \Theta_i(t) = 0$ . By (B8), we have  $\lim_{t \rightarrow \infty} \varphi_i(t) = 0$  or  $\lim_{t \rightarrow \infty} \frac{\xi_i(t)^2}{\varphi_i(t)} = 0$ . Furthermore, by the boundedness of  $\|x_i(t)\|$ ,  $\forall i \in \mathcal{V}$ , we know that  $\|y_i(t)\|$  is bounded, which implies that  $\|\varphi_i(t)\|$  is bounded, i.e., there exists a positive constant  $\delta$  such that  $\sup_{t \geq 0} \|\varphi_i(t)\| \leq \delta$ .

On one hand, if  $\lim_{t \rightarrow \infty} \varphi_i(t) = 0$ , by the definition of  $\varphi_i(t)$ , we have  $\lim_{t \rightarrow \infty} \|y_i(t) - P_{X_i}(y_i(t))\| = 0$  and  $\lim_{t \rightarrow \infty} g_i^+(y_i(t)) = 0$ ;

On the other hand, if  $\lim_{t \rightarrow \infty} \frac{\xi_i(t)^2}{\varphi_i(t)} = 0$ , together with the fact that  $0 \leq \frac{1}{\delta} \xi_i(t)^2 \leq \frac{\xi_i(t)^2}{\varphi_i(t)}$ , we have  $\lim_{t \rightarrow \infty} \xi_i(t) = 0$ . Then, by the definition of  $\xi_i(t)$ , it follows that  $\lim_{t \rightarrow \infty} \|y_i(t) - P_{X_i}(y_i(t))\| = 0$  and  $\lim_{t \rightarrow \infty} g_i^+(y_i(t)) = 0$ .

Thus,  $\lim_{t \rightarrow \infty} \|y_i(t) - P_{X_i}(y_i(t))\| = 0$  and  $\lim_{t \rightarrow \infty} g_i^+(y_i(t)) = 0$  hold for any  $i \in \mathcal{V}$ .

**Part 2.** Now we use  $\frac{1}{\sqrt{w^T w}} w$  to form a set of orthonormal basis on  $\mathbb{C}^n$ , denoted by  $\frac{1}{\sqrt{w^T w}} w, p_2, \dots, p_n$ . We define  $P = (\frac{1}{\sqrt{w^T w}} w, p_2, \dots, p_n)$ . It is obvious that  $P$  is a unitary matrix, so  $I_n - hL$  can be written as

$$P^T(I_n - hL)P = I_n - hP^T L P = \begin{bmatrix} 1 & 0 \\ * & I_{n-1} - hL_1 \end{bmatrix}.$$

Denote a graph  $\bar{\mathcal{G}} = (\mathcal{V}, \mathcal{E}, I_n - hL)$ , since  $\mathcal{G}(\mathcal{A})$  is strongly connected, we know that  $\bar{\mathcal{G}}$  is strongly connected. Due to  $0 < h < \frac{1}{\max_{1 \leq i \leq n} \left( \sum_{j=1}^n a_{ij} \right)}$ , we know that  $I_n - hL$  is a row stochastic matrix. By Corollary 3.5 in [2], we have  $\max_{2 \leq i \leq n} |1 - h\lambda_i(L)| < 1$ ,

which implies  $|\lambda_i((I_{n-1} - hL_1) \otimes I_m)| < 1$  for any  $i = 1, \dots, n-1$ . Denote  $\bar{e}(t) = P^T e(t)$  and partition  $\bar{e}(t)$  into two parts, i.e.,  $\bar{e}(t) = [\bar{e}_1^T(t), \bar{e}_2^T(t)]^T$ , then, by (B2), we have

$$\begin{cases} \bar{e}_1(t+1) = \bar{e}_1(t) + \left( \left( \frac{1}{\sqrt{w^T w}} w^T - \frac{\frac{1}{\sqrt{w^T w}} w^T \mathbf{1}_n w^T}{\mathbf{1}_n^T w} \right) \otimes I_m \right) \phi(t) = \bar{e}_1(t) \\ \bar{e}_2(t+1) = ((I_{n-1} - hL_1) \otimes I_m) \bar{e}_2(t) + \begin{bmatrix} (p_2^T - \frac{1}{n} p_2^T \mathbf{1}_n \mathbf{1}_n^T) \otimes I_m \\ \vdots \\ (p_n^T - \frac{1}{n} p_n^T \mathbf{1}_n \mathbf{1}_n^T) \otimes I_m \end{bmatrix} \phi(t) \end{cases}\quad (\text{B10})$$

For (B10), note that  $\bar{e}_1(0) = \frac{1}{\sqrt{w^T w}} (w^T \otimes I_m) e(0) = \frac{1}{\sqrt{w^T w}} (w^T \otimes I_m) \left( \left( I_n - \frac{\mathbf{1}_n w^T}{\mathbf{1}_n^T w} \right) \otimes I_m \right) x(0) = 0$ , then  $\bar{e}_1(t) = 0$  for any  $t \geq 0$ . Moreover, the result in Part 1 implies  $\lim_{t \rightarrow \infty} \|\phi(t)\| = 0$ , by Lemma 4 and  $|\lambda_i((I_{n-1} - hL_1) \otimes I_m)| < 1$ , we have  $\lim_{t \rightarrow \infty} \|\bar{e}_2(t)\| = 0$ . Together with  $\bar{e}_1(t) = 0$ , we have  $\lim_{t \rightarrow \infty} e(t) = 0$ . Then, MAS (2) with (5) reaches consensus asymptotically, i.e.,  $\lim_{t \rightarrow \infty} \|x_i(t) - x_j(t)\| = x^*$  for any  $i, j \in \mathcal{V}$ . Furthermore, from the expression of  $y_i(t)$ , it can be obtained that  $\lim_{t \rightarrow \infty} \|x_i(t) - y_i(t)\| = 0$  for any  $i, j \in \mathcal{V}$ . Thus,  $\lim_{t \rightarrow \infty} \|x_i(t) - x^*\| = 0$  for some  $x^* \in \mathbf{X}^*$ . This completes the proof.

## References

- 1 Olfati-Saber R, Murray R. Consensus problems in the networks of agents with switching topology and time delays. *IEEE Transactions on Automatic Control*, 2004, 49(9): 1520-1533.
- 2 Ren W, Beard R. Consensus seeking in multi-agent systems under dynamically changing interaction topologies. *IEEE Transactions on Automatic Control*, 2005, 50(3): 655-661.
- 3 Touri B. *Product of random stochastic matrices and distributed averaging*. Springer, 2012.
- 4 Ram S S, Nedić A, Veeravalli V V. Distributed stochastic subgradient projection algorithms for convex optimization. *Journal of Optimization Theory and Applications*, 2010, 147: 516-545.